105°C 2

10
20% 4%
B
105 2 10
1), 2)
5
M-20
27 (2-
DEHTP 98% ACROS
A BPA 99.0%
3)-5)
ATBC
97.0%
DBS 98.0%
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60 cm 6.0cm 3.5cm
+2.5
1 210 50 cm
50 cm 4.2 cm 6.0 cm
50 mL
410 45 cm
2 41 cm 7.2 cm 3.5cm
300
40 cm 100 mL
73 cm
+4
3 250 67 cm 7.5cm 3.5cm
86 cm 120 mL
61 cm
+7
4 570 52.5cm 10 cm 5cm
50 cm 200 mL
61 cm
+8
5 300 52.5 cm 6.5cm 3.5cm
50 cm 50 mL
6 +10 5215cm ° (;r(r)] L sem
250 .5cm m
50 cm 7.5cm 3.7cm
80 mL
s 60 cm 6.(5)c;:rrrr11L 3.6 cm
7 _210 50 cm
50 cm
4.2 cm 5.8cm
50 mL
+
_1(())05 40 cm
8 35cm 7.2cm 3.5cm
+1.5
28 cm 100 mL
200
60 cm
+2.5
9 51 cm 8.4 cm 4.6 cm
210
50 cm 200 mL
60 cm
+8
10 260 53 cm 8.5cm 4.5cm
50 cm 200 mL
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5

pg/mL

4 4% 4
105

1 2

600

9 16 3x 3 4x 3 3x

n=9 16
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2
1
105
1
Ws
Wb
10 mL
30 pg/mL
10 mL
Ws2 Wb2
1
9

16

105 2

Wsl Wbl

55 6.5 mg

105 2
1
3x 3 4x 3 3x 4



4x 4 2 10 8
105 3
1 1 9
Ws3 Wb3
1 7
9 10
3
55 6.5mg
Ws2 Wsl Wb2 Wbl
Ws3 Wsl Wb3 Wbl 105
Ws2 Ws3 Wb2 Wb3 5 7 9 10
x 100
C 0.7 53
43 76
1 3 7 8 5
2 4 5 6 10 5 8 2
15
4.6
3
73 cm 67 cm
86 cm 8
40 cm 35cm 28cm
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+2.5

1 103.1 105.6 2.5
210
+4
3 103.2 108.5 5.3
250
7 +2.5 103.7 104.4 0.7
210
+0.5
o 100 105.5 107.0 15
+1.5
200 100.9 105.5 4.6
9 +2.5 103.1 104.3 1.2
210
2 +10 102.2 109.8 7.6
300
+7
4 102.3 106.6 4.3
270
+8
5 103.5 110.1 6.6
300
+
6 +10 103.4 108.2 4.8
250
+8
10 100.5 107.4 6.9
260
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104.0 104.4 104.0 104.4 103.7 103.8 103.1
103.7 104.0 104.2 104.3 103.3 103.5 103.5
103.9 103.9 104.2 103.9 103.3 104.3 103.7

10
110.1 109.2 107.3 107.4 105.5 107.4
106.5 106.1 105.2 102.4 102.9 103.9
103.5 105.8 105.1 101.8 100.5 102.2

BPA ATBC
105
DEHTP DBS
BPA

200 mL
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200 mL
30 pg/mL




6 mg

1 2
6 mg
600 ug/mL 10 mL
1 1
55 6.5mg
105
5 pg/mL
200 mL
1 mg
55 65 mg
1mg 154
18.2
6 mg 17
0.1 mg
17%
0mg
1
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1
93.2
100.5 DEHTP 724 943 BPA 780
94.9 ATBC 226 571 DBS <17
40.3
93.7 103.6 DEHTP 929 103.7
BPA 909 1016 ATBC 56.3 815
DBS 308 57.0
DEHTP BPA
70
10 ATBC
DBS
ATBC DBS
180 200
105 2
105 =5
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y = -1.4306x + 248.14
R2 = 0.2577
98 100 102 104 106 108 110 112
DEHTP
y = -5.7516x + 686.13
R2 = 0.5357
98 100 102 104 106 108 110 112
BPA
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(X
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y = -3.0724x + 408.22
R2 = 0.2365
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ATBC
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DBS
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y =-0.5198x + 153.15
R2 = 0.0652
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DEHTP
y = -0.7894x + 180.66
R2 = 0.0906
98 100 102 104 106 108 110 112
BPA
D
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y = -0.5716x + 156.26
R2 = 0.0534
98 100 102 104 106 108 110 112
ATBC
y = -1.832x + 257.61
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[}
. ° > % % .
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DBS
y = -1.9119x + 246.9
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105
2
92.3 984 DEHTP 86.0
96.0 BPA 78.8 949 ATBC 245
59.9 DBS <17 447
96.8 105.0
DEHTP 90.6 102.2 BPA 85.8
101.1 ATBC 383 76.7 DBS 175
69.0
1
1 2
ATBC DBS
1
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8
DBS
ATBC

1
1 7

ATBC
1 7

35 3.6 cm
6.0 5.8cm
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59 64-71(2018)

45.2 69.3 57.1 72.0 56.5 76.5
ATBC
28.7 21.5 21.0 10.1 9.4 6.5
<17
24.6 22.9 36.0 40.3 62.5
DBS (1.0)
(1.8) 11.4 11.7 10.2 11.4 11.9
n=12
D
10
105
105 5
105 2 E
1) 201
34 370
18 3 31
2)
|SBN4-8058-2663-0
105 p 34-36 (2006)
3) 27
105 =5
p 15-55 (2016)
4)
1
59 55-63 (2018)
5)
2



